EARAROBEEIERT — 2 N— IBISH —F

20155 7H230 (k) 9EIEMH5H

IR C2— Yo% 3mE ‘ (xfg] £ ‘ [REm]  — | & () 14000 TR
[AE4£] 1% :250,000 ™ ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH ~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
P REZ 4t 3 | THEE 1:29.2 3-3-3-3 [39.3| — 1 455 | FFHEE (EB)
1111|7171y KFEX 56.0 ) ) | @ Fresn . 2z
L:xA42agRk—-5— B:LT1T7IIAF T BAtE
S o =2 4 5 | BEHT 1:29.4 2-2-2-1 [39.7| — 6 404 | BHEA (FEH)
2|8|9|7-Y—b/=X 54.0 (11/2) Gy | FEHE
L:7I7V—h BV -T FT TAZRHS
> LS, 4 # o7 | FREME 1:29.5 7-7-7-4 | 39.2| — 8 454 | |IAE (FE)
3|5|5| YTHRMYvT— 56.0 @/ o | EEEX
RO—TXA AL BIUZF 4 Xy b e —B
- =T H— . 55 _ IO (k)
4 3| FAEAH LY i 5 554_0 (17.2;% 5-5-5-6 | 39.3 5 (4_4:) fritapa
LY LFTAN—F BixHY—4F— PRI
YRS S0 i 6 | JIEE— 1:30.2 9-9-9-8 [39.2| — 3 445 | EBAE (EB)
5|8[10) SV FFAbZyT 54.0 @ e | BEN%
LYoy TLoT0 BTXI/ITT BA =i
R EF s :30. -1-1- . — TR (EE
6 6 2F—H — 4 8 e 1(33/%3 1-1-1-2 | 40.7 7 &2) s
L:7H4FALNK B:4—)FX3I— Xt 1B
° S B3 | ENEE 1:30.8 6-6-6-9 |40.7 | — 4 456 | AVIIEAD (EIER)
71718 T7ARAT A 55. 3) o) [alssEcd
LT A —FAFAF =YL BiALT—FeA b RES
SN A AFHfE : 44— — TEE (FEH)
alzl7|T1vrgn—n 3 A 1(/73?:) 4-4-4-5 | 41.0 2 fag) $#A§:%
R:IAY>FE2Te BiIAS NS =IB4is
o N s INTTE o) :31. —-8-8- . — BAEE (F)
9 4| KTy > 5 £54.o 1 (331)4 8-8-8-7 | 41.1 9 ;1_515) Frblabed
R:xA1=ZGr7—R B:T7IIHL Y — TIXTT—L
NS VAN 4 o4 | A—R 1:33.5 10-10-10-10| 39.7 | — 10 | 509 |#E (Fh)
10 2 ENY T X 56.0 (21 4) (-4) EETF
R:FALTFAT BIASCULERY x KB
® 1—F—@EBIERL
1T=7r= 6,9,1,7,3,8,5,4,10,2
2a=5F= 6,9,1,7,3,8,5,4,10,2
Ja=5= 6,9,1,7,3,8,5,4,10,2
43—+ — 9,6,1,5,7,3,4,10,8,2
[ N5
B 1 160/ 714K 1-9 610M e E 1-8 660M JEE 1-5-9 7,290
B B 1 1509 =5 770 B = 1-9 2,050 EE 1-9-5 23,790
9 410M 5-9 2,670 B H 1-9 1,910
5 640M

ABICOVWTRDTEEERROODE. TR LIV,




